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ECONOMICS
Paper - 11

1. Diamond water paradox illustrates
that the price of goods or services
are determined by its

(A) Total utility

(B) Marginal utility

(C} Average utility

(D} (A) and (C) both are correct

2. What is the formula for NNP at factor
cost ?

(A) NNP = NDP,. + Net factor income
from abroad

(B) GNP, - D = NDP,,, + Aid
(C) NDP,,, + D = NNP + Direct taxes
(D) GDP - D = NNP

3. Cochrane-Orcutt method is used to
solve which econometric problem of
linear regression ?

(A) Auto correlation
(B) Heteroscedasticity
(C) Multicollinearity

(D} Unbiasness

4. Given the average revenue function
P = 30 - 4Q ; the total revenue
function is maximum, when

(A) Q=2 (B) Q=0
(C) Q=2.5 (D) Q =30

1. SlR-wgllell s eaid D ¥
Al ¥ ActAle{l B
Ul 8.

(A) 5t 2Rl

B) Alnid oyl

(C) ¥3AA R

(D) {A) Ual (C) eial AU B

2. Aot WA NNPoj 3y 9 B ?

(A) NNP=NDP,_ + [@QZall

Al ALttt LS
(B) GNP, - D = NDP,,, + H6&l&
(C} NDP,,, + D = NNP + luls:azl

(D) GDP - D = NNP

3. 8ls20i— 222 Urildell Ul
Yu Radiciy o s wdRQ
ato(l AHRAUA GHE HIZ WA B?
(A) AMeHoiY

(B) xuiota

(C) USUHILAL

(D) Well@elcdll

4. 2R AR2AN vds ([ARA P=30-4Q;
UG A Al 5ct s Q1
HeTH U, AR

(A) Q=2 By Q=0

(D) Q=30

(C) Q=25




5. According to mercantilists a nation’s

wealth and prosperity depends on
(A) Population size

(B) Stock of precious metals

(C) Agricultural development

(D} Industrial development

. What is revenue expenditure ?

(A) Current or consumption
expenditure incurred on civil

administration

(B) This expenditure is of recurrent
type which is incurred year after

year

(C) It is not recurring type of
expenditure

(D) (A) and (B) are correct

. Inflation indexed bonds are issued to

(A) Generate positive returns from

investment

(B) Channelise productive

investment
(C) Increase liquidity

(D) Control savings

5. clul? cltélallell He yevot Agell
dul wa yald
AWURA B,

(A) aclleil s€

(B) HEAdlol ulqallell w2l
(C) s [Asiu
(D) 2ALNBLs Qs

6. Hayl Wl g B ?

(A) &R ucRAUUA UR Ul A
uUal Guelor wAd

(B) ¥l ustell 1ayell Wil
ek Al & 3 ¥ uldand
adl sl 8,

(C) A ARaUR Al W ol

(D) (A) ¥al (B) ¢lol HLAL B.

7. $oUCl YUsUS ollos KlaLR
utscltl w1 .

(A) Sl ABEL UR ESIRAMS AR
Ylid s2cll

B) Geuedla ySAsQ AERA
¢l

(C) dREAAL atal

(D) HAAA (AR s2a

U




10.

11.

An economist who has introduced
limits to growth into economic
literature

(A) Adam Smith

{B) Joseph Schumpeter
(C) N. Kaidor

(D) Thomas Malthus

. Coase theorem is based on

(A) Perfect competition
(B) Monopoly
(C) Monopolistic competition

(D) Oligopoly

Reforms in capital markets are
implemented by

(A) RBI
(B} Ministry of Corporate Affairs

)
(C} SEBI
(D} Finance Ministry

The concept that “It is not possible to
make any person better off without
making some one worse off ”

(A) Paretion equilibrium concept
(B) Hicks concept

(C) Boulding concept

(D) Pigou concept

8. szl Buoll gl s
WRHL gleell HalerRlAl vaud
ELHEL 5AIL

(A) AsH @A
(B) g ywdle?
(C) lol. SLESIR
(D) U™ e

9. 51 yny w2 adla 8.

(A) dydl &dsis

(B) &3t

(C) SowAYscd &35S
(D) UEUSIAS P13

10. {3l cioslRell YRzl

GLRL WHEAHL Y LHL diLell,
(A) RBI

l(B) siufe ottaidlatl Hotea
(C) SEBI

(D) ollill HotA

“Slef Asal WA EARQH] udusal

aarR 8¢ ollotal Al URRAAH]
H8l asqg asA o2l - Bl v

(A} QR AHdELel
(B) (&5l

(C) cllBeslalell

(D) [agell

11.
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12.

13.

14.

The size of the multiplier depends
upon the size of the

(A) Marginal propensity to
consume

(B) Average propensity to consume
(C) Size of population

(D) Average propensity to save

How ‘Normality’ of distribution is
verified ?

(B) X+n Q.D.
(D) Z+no

For a matrix to have an inverse, it
should be a square matrix and a

(A) Null matrix

(B) Singular matrix

" (C) Diagonal matrix

15.

(D) Non-singular matrix
Comparative cost advantage theory
is based on principle.

(A) Positive sum game

(B) Negative sum game

(C) Zero sum game

(D} Exploitation

12. [QiSe] 5€ 3 Slell 5€ UR R

&,
(A) ¥Hid Guedoat gld

(B) AR Guelal gld
() cxclle s€

(D) ¥RRAW YUdg(d

@l Yrilld yMiRldr s¢
A otsfl 53 wasia & 7
(B) X +n Q.D.

13.

(A) X £no

(C) M no (D) Z +no

14. AEse yld- ARls 12, & aot
Alls wa glcll AU,
(A) 2ot As
(B) AsH Alls

(©) @Qsell AR s
(D) [lot-Asu AlRls

detelleds W cuat Rvid
A uR 2uulBRd ®.

15.

(A) Hol 29t M
(B) “lS812AHS A2 M
(C) Yo A2 Hc

(D) 20™EL




16.

17.

18.

Government’s budget constraint

equation can be written as
(A) B+ T+ AG + AM

(B) G=T + AB + AM

(C) AM + AG + AT

(D) AG = AB + AC AY

Who was the Chairman of Second
working group on money supply
constituted in 1977 by RBI ?

(A) Vijay Kelkar
(B) Y. V. Reddy
(C) M. L. Ghosh

(D) Bimal Jalan

Which of these can be classified as
‘technological progress’ ?

(A) Similar quantities are produced

with more inputs

(B) Import a cheaper product from
another country

(C) Produce more with less inputs

(D)} Produce similar quantities with

similar methods of production

16. AURsRall wige Halel AHls0La Al
A @l asal

(A) B + T + AG + AM
(B) G =T+ AB + AM
(C) AM + AG + AT

(D) AG = AB + AC AY

17. RBI 612l 1977 ul Ul owtii
yRasl vdatl oflont steisi oasu
ARl 5l0L Hcll ?

(A) [Qoa ¥es?
(B) acatcl. 2

(C) AHAA. Ay

(D) (AHA slctlet

18. A High % dslkisl yald’
A3 aw(lsa sdl asia ?
(A) dy GeulEololl ALuell ad
UHLol cxg W sHle] GeulEat
(B) ollost tarmiell U Beulet
BALA 5.

(C) Al Galleatatl Al ay
Geulesl Roag.

(D) AHLel YsiRall Geulest

uetdell Aulet drg AsHleg
Geuteot
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19.

20.

21.

According to under
certain conditions economic actors
can arrive at an efficient solution
to an externality without direct
government involvement.

(A) A. K. Sen

(B) J. Robinson
{C) R. Coase
(D) T. Malthus

Mutual fund is an important

componernt of

(A} Cooperative sector

(B) Small scale industries
(C) Capital market

(D) Money market

Fill the right number in the blank

column.

Unit 12| 3 4 | 5

TU 10] 18 | 18

MU
AU

45| 3

MU
(A) 0
B) 4
(C) 8
(D) 10

AU

15

19.

oll Hcl Yoo, 32clls
3Rclel pflot URsL2a1l ALl
&Y o wlEs wel 2Els

JRclalell slaleid e Rl
(% B},
(A) A.3.Aet

(B) %. Al ogtot
(C) R, 81
(D) 2L HcaA

20. RYUA §5 W wolRlell Uzs .

(A) ussldl A
(B) elletl UL2dlett Gellol
(C) 43l olR

(D) <llRll oot

21, wicll sletHul Rl 2se yal.

UAsH
TU

-
N
w
FS
4}

10 18 | 18

MU
AU

45| 3

MU AU
(A) 0 5
(B) 4
(C) 8

(D) 10 15
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22, Keynes theory is governed by

(A) Effective demand

(B) Effective demand is equal to
total output = total income =
employment

{C) (A) and (B) both are correct

(D) (A) and (B) both are incorrect

23. Which method is generally used
to determine mode, in case two
or more classes have same higher

frequency ?

(A) Graphical method
(B) Table analysis

(C) Equation method

(D) Square root method

24. In an input-output model, elements

of technology matrix indicate
(A) Technological progress
(B) Vintages of technologies used

{C) Input requirements for
production of one unit of

output

(D) Total inputs required for

production in an economy

22.

23.

24,

3o ofl Rt Hal@d B,

(A) MU U

(B) 4818 Hiol A g GeUlEst
B2 B = 5C wles =AU

(C) (A) A9l (B) 6isl ulUL B

(D) (A) e (B) ¢lal Wlel &

w22 A ¥ Al ay aslel vugl@
UMl e ay glal U UM

AA st uruldell wgets -l
aLadl sl asia ?

(A) wAueAl utuld
(B) Bles {daAwel
(€) ulsrel ukuld

(D) adlyaell uruld

Ulel-Gauleat (Selye-auGeye)
H3AHL 5ol (dAslAS]l) AlLs
oll u2sl AZelld 53 B
(A) 25l Walld (sl Yalld)
(B) SLlicdRd 250l (cdsMS)
oll GUallol
(C) As AsHott GUlEal HIZ %33
GeUlEato] ALt (Soiye)

(D) WcdaAHl Geuteat M2 3
§C GcUlEotoll Ultell (Sely2)

—
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25.

26.

27.

28.

Heckscher-Ohlin Theorem is

known as

(A) Absolute cost advantage theory
(B) Factor endowment theory

(C) Dualistic theory

(D) Cost benefit theory

Who advocated levying of expenditure
tax in both the developed and
developing countries ?

(A) Nicholas Kaldor
(B) Daldon
(C) Fisher
(D) Wegnor

Market stabilisation scheme was
introduced by RBI in the year

(A} 2002 (B) 2004

(C) 1991 (D) 2001

have replaced millennium
development goals with sustainable
development goals.

(A) Indian Government
(B) United Nations
(C) United States of America

(D) World Bank

25.

26.

27.

28.

3s5UR — lelAet Rraid
Adl% onelldl B.

(A) e WA - cle Reaid
(B) Altot YYcll Attt

(C) actcllél Awid

(D) wl-cue Rttiid

AsRd wa Qsillcd ol we w
AA cledlell elciMel sl 53 sdl.

(A) RAslAA ste8lR
(B) slcget

(C) (Bar
(D) QiR

o112 RARcL Aol RBI sl sl
ay 23 sALY

(A) 2002
(C) 1991

(B) 2004
(D) 2001

Gl UsBUlE caauislA
AUR A ceaisl uedanl
wlcal.
(A) ™R URSLR
(B) Yolltfes alalaly
(C) Youtfes Ry s WARSL

(D) (A ols




29.

30.

31.

32.

If the discounted value of future
inflows generate more than initial
investment, then the project is said
to be

(A) Viable

(B) Unviable

(C) Loss making
(D) At break even

Who is the Chairman of 16* Finance
Commission of India ?

(A} Deepak Seth

(B) Arvind Panagariya
(C) Shaktikant Das
(D} Praveen Modi

The kinked demand curve was first
used by

(A) Prof. Paul M. Sweezy
(B) Prof. Hicks

(C) Prof. Kaldor

(D) Prof, Pareto

The Keynes consumption function
can be expressed in

(A) C=a +bY,
(B) C=b +a¥,
(C) C=a+Dby,
(D) C = a + by,

29,

30.

31.

32.

oSl alAratell HSIASIGL Ycllsa]
agld 4 A3ulctell HIAs51L
sl AulR 8la Alysey
sdcudl,

(A) H&H

(B) HU&H

(C) W $2dl

(D) uM-de blgA

URcAHL 16 Hi ollQUUA ol AN

sloL B,
(A) [Bus As

(B) wRlde ustoRa
(C) alsasid eln
(D) ulQal WEl

wiaaloll Hidlell asal Gulat

dlyan sla sl el
(A) "l Wt A <ol

(B) Ml (dsu
(C) YL SLASIR
(D) Yl QRlel

3o oll Guellol [ARaa eaidl
9512

(A) C=a+bY,
(B) C=b+aY,
(C) C=a+ by,
(D) C=a+ by,




33. ‘A’ speaks truth in 90% cases and ‘B’
in 80% cases. In what percentage of

cases will they contradict each other

in stating the fact ?

(A) 36% (B) 56%

(C) 26% (D) 76%

34. Givena+b=15,b+c=25and
a+c =10, find [a, b, ¢].
(A) 5, 10, 10
(B) 10, 10, 15
(C) 5, 15, 10

(D) 0, 15, 10

35. India’s trade performance in last

decade shows that

(A} Both exports and imports have

grown substantially

(B) Export shows diminishing trend

and imports rising trend

(C) Both exports and imports have
stagnated

(D) Exports and imports shows wide

fluctuations

33. ‘A’ 90% [(3RuxUl Wy «lA B
el ‘B’ 80% (Bl wy oA B.
Al 3ecll 2sl Bruni cix s8lsd
sdalHl Asollestell wraur @A
(AUAdL) & ?
(A) 36%
(C) 26%

(B) 56%
(D) 76%

34. a+b=15 b+ c =25 vl
a+c=10 30 &a A [a,b,c]
oLl

(A) 5, 10, 10
(B) 10, 10, 15
(C) 5, 15, 10

(D) O, 15, 10

35. Rclell Beel Elaustell Auiz g2l
VY ...

(A) sty wal vl sl ay
HIAUHL cull sl 8

(B) [Rstanl uaist dR$l aeal o
URAAHL dtllRe] Al

(C) BlslU A AU oMl
Bl el

(D) (elstd Wl vaulcdAHl Y ¥81R




36. The criticism of indirect taxes is | 36. udlet sl st B %

that
(A) oll2ll wuas uncdl AL ay
(A) People with lower income bear oU? ool 52 B,
higher burden

(B) G0l wlds uRcdl A8 ay

B) People with higher income b
B) P guer meome bear QLR ddet 52 B,

a higher burden

(C) It is favorable for poor people (C) AL AL M wafgn B.

(D) (B) and (C) both are correct (D) (B) el (C) olal UL B,

37. How many foreign banks are in | 37. %, 2024 yului curdui decll

operation as on June 2024 in India ? [@Zall A8l sl B ?
(A) 34 (A) 34
(B) 24 (B) 24
(C) 44 (C) 44
(D) 54 (D) 54
38. The path of development followed 38. (Asin ysau eRzllel @R gLl
by India during its development UUALUAA [Astd ust
process is

A) dHACAA gER
(A) Balanced growth A) <

(B) Concentrated growth (B) ¥odlal gftR
(C) Unbalanced growth (C) UAHAAA gt
(D) Diversified human development D) ARRUAR Hiotd Qs




-

39. The valuation of environment goods
needs

(A) Shadow prices
(B) Minimum prices
(C) Maximum prices

(D) Government prices

40. According to Indian Economic
Survey 2023 — 24, the inflation

rate of India is

{A) Higher than EMDE’s inflation

rate
(B) Below EMDE'’s inflation rate
(C) Equal to EMDE'’s inflation rate

(D) {A) and (C) are correct

41. Which one of the following
assumption of Pigouvian welfare

economics does NOT hold true ?

(A) Consumer acts rationally to

maximise his satisfaction

(B) Equal satisfaction for equal real

income
(C) Utility is measurable cordinally

(D) Diminishing marginal utility of

money

39. yalaRglla dicAleit Heliset R

%33 B,

(A) BaBd Eud
(B) Yot Eu
(C) HerH Budl

(D) ARs3 BGHA

40. oURcloll 2023-2401L AEs udael

AR ARctell gouclall €2 B.

(A} EMDE ol $oUcll ER 82cll dY

(B) EMDE el $ollclt €2 52l
69

(C) EMDE oll $ollcl €2 %2l

(D) (A)¥a (C) MLAUL B

41. Mool scaucell mdaust 12

WA wRAHY 56wl o2l ?
(A) aMes Welall qfRIgel HetiH
sall dbutn cddel 53 &

(B) uHlel R2[QL HI2 UMlel
cizlds wutas

(€) dfRoael Aveudla Aa wdl
AslA B

(D) otRlicll Ul ol Hluid
SIS




42. In Tobin “q” theory of Investment, 42. A(Actoll I-LQQSLQLG'[[ “q” R dni
Tobin writes its “q” ratio as under Al “q” A sl IRNTR A R
8.

Market value of the firm’s
capital stock

(A) q = ot Y3l s wln? el

Replacement cost of the capital (A) 9 =
stock 43l Rlsq] Yl uet wal
Market value of the firm’s
B) q- — exitaend:m;eh — B q= Ulott wdef xR Hea
eplacement cost of the capita yle2lse yQeaust wa
stock
Market value of the firm’s .
© saving ©) q = QElell U cto] wonR Yl
1 Market value of the AUlY %81801 SN 1825 (G2
current stock
Total market cost __ S A%R w3l
(D) q = . (D) 9=
Total saving §A ol

43. A border check-post stops every | 43. UEE URd] ollg E35 HUISR

passenger vehicle, which one of the cigetal A B, oA wAAH 5¢5
following procedure is applied ? yBa L9 ysa| ?

(A) Simple random sampling (A) UE A5 (Aedlal

(B) Stratified random sampling (B) t3ld g9 [Aedla

(C) Complete enumeration (C) Ayal 21Qetl

(D} Cluster sampling (D) Ul @Aeglet
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44, Given two demand functions 44. Ve & KoL @Rz -
Q, =50 - 2P and Q, = 30 - 2P. The Q,=50-2Pual Q,= 30-2P &l dl
two functions are oia {dRal -

(A) Asellam ol uHidR B

(A) Parallel to one another

(B} Asollost A clot Sl

(B} Perpendicular to one another

(C) Meet at origin (C) GeataldlgR HA

(D) Meet at infinity (D) steidllgal 4o
45. Since 1993 India follows 45. 1993 &l eRc
UUALD B,
(A) Fixed exchange rate policy
(A) RAA QRN €2 A
(B) Dual exchange rate policy (B) B Ak e2 AR
(C) Market determined exchange (C) wxR RuiRd QM €2
t .
rate (D) 3Rl el AR
(D) Rupee is pegged to dollar (BHA
46. Fiscal deficit refers to 46. sl wie Blzd
(A) excess of revenue expenditure (A) H%%LC‘[[ uAs scll HSJ%LC‘[I
over revenue receipts BRAH aul?l

(B) (total expenditure both on (B) (481 ual uBYC visl
revenue account and capital W ctLadloll §C'lU-Ri)—(1-l§'\';LC‘[l

account) — (refrenue re.celpts and wllets wol Clot- Eaidla "Lﬂ
non-debt capital receipts)

vllasl)
(C) A8l wauMs 2uasl sl

HEYA wlall atulRd
(D) U512 gl &t BRel 526

cltllRe] £

(C) excess of revenue expenditure
over primary receipts of bank

(D) excess of borrowing over lending

by government




47. Merchant banking facility was
initiated in India by

(A) SBI in 1972
(B) SBI in 1973
(C) RBI in 1975
(D) SBI in 1974

48. During liberalization phase in India,

the income inequalities have
(A) remained constant
(B} been fluctuating

(C) decreased with development over
time

(D) increased over time

49. OQut-migration is result of

(A) Better job opportunity in other
States

(B} Language barriers

(C) Inadequate job opportunity in
own State

(D) {A) and (C)

50. ‘Surya Mitra’ Yojana was launched

on
(A} 15 February 2024
(B) 15 March 2023
(C) 15 April 2022

(D) 15 February 2023

47. U cllFol YAl euRdHL Slell

GlRL A3 5AE ?

(A) SBI glRl 1972 Hi
(B) SBI gl 1973 Ml
(C) RBI 612l 1975 Hi
(D) SBI gl2t 1974 Hi

GELASWAAl AeisS| €320l
LR AHL, L asoll AU H LA

(A) B2 28 B
(B) 3252 & 8 ®
(C) dAHAAR [@Asia wd udl B

48.

(D) uMAAR atll &
49. gaenidel A wReuH &
(A) oflest o2l Hi W Alsdlell

s
(B) ewnisla HalerAl

(C) Weltell A¥AHL AYRCA
Alse{l ds

(D) (A) el (C)

50. 4 B 2ot M3
scilHl wicll sl
(A) 15 33 2024

(B) 151y 2023

(C) 153N 2022
(D) 15 ¥yl 2023




51.

52.

53.

In perfect competition, which of
these is NOT the right condition ?

(A) All firms are price takers, they
have no market power

(B) Price and quantity are
determined at the point when
industry demand and supply
are equal

(C) The price is called the equilibrium
price

(D) Firms sell their goods and services
at different prices

IS-LM curve model

(A) has succeeded in synthesising
the monetary and fiscal policies

(B) has not been able to explain
economic variables such
as saving and supply of money

(C) has not explained demand for
money

(D) directly explains the growth of
Industries

Which index method is used by RBI
for calculation of inflation in India ?

(A) Fisher’s equation
(B) Laspeyre’s equation
(C) Paasche’s equation

(D) Marshall-Edgeworth equation

51.

52.

53.

Yol &30 steui, waniell s
AL 9t otell ?

(a) ol VAR Bud Aol B,

Axell WA 518 wnR ol
ol

(B) (5uct wa el Ruie A
(olg u ¥ »az Gralal o{l
HIOL el Yol URuL Ul

(C) Bud A yudetell Bud
53clQ

(D} VElAl Anell clrgall wa
AcylA %el-9€l EHA A
AU

IS — LM ds HI3d

(A) strisla ua AslaL o{l[A0 Ul
Yoot Hi w5 W

(B) U wa allRlioll Yasl ol
UIEs UAl uHecll s o1l

(C) etgliedl Hiot uuendl a2l

(D) Gallallell gl o Y
YHX R B

Rl gauatell o1l 1 RBI
gl 58 Yusuise(l utuldel

Guallol A 8 ?

A) (Bard wlls2a

(B) cllmadq] dM{ls:0L

(C) Walef uls2wt

(D) Hdlet- Axad wllswL




SS5.

56.

57.

Given the supply and demand
functions as follows :
Q,=30-2P; Q_=~10 + 6P,
the consumer surplus at
equilibrium is
(A) 40

(C) 200

(B) — 40
(D) 100

The exchange rate risk is reduced
by

(A) Futures and currency options
(B) WTCO

(C) World Bank

(D) Trade regulation

In India, very high rates of Income
tax cause evasion of tax and
also discourage incentive to save
and invest — Pointed out in its
recommendation by

(A) R. N. Tripathy
(B) Eckskin

(C) Kaldor

(D) R. Dornburch

From which year onwards RBI has
started framing monetary policy
through Monetary Policy Committee

(MPC) ?
(A) 2016 (B) 2015

(C) 2014 (D) 2020

54, GculEal ol HidL AR 2w Y

BUNA B

Q,=30-2P; Q =-10 + 6P,
Wrdcttell RARA lesall
AN B

(A) 40 (B) - 40
(C) 200 (D) 100

QML £2etl v Ml waLsl
2l B

(A) KA ol 50l relet Gl

(B) WTO sl
(C) [Qu ols g2l

(D) AuR [Aanet st

55.

56. MMl 5 W AU €2 A
50N Wula, »=uz ydAswel
el cUctal [Apuél ool B -
VL HEL Slotl Gl MMl scULH

vyl ?
(A) AR. Aet. Bwsl

(B) ot

(C) steslR

(D) AR, Sloteyd
57. RBI g1l s avel sieifia «ldef
atset ellilisla <A sA (MPC)
Gl A3 53 B ?

(A) 2016 (B) 2015

(C) 2014 (D) 2020
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58.

59.

60.

61.

In a number of advanced nations,
‘Tertiary sector’is the most dominant
sector. This pattern follows

(A) Theories of structural change
(B) Theories of population

(C) Theories of consumer
behaviour

(D) Probabilistic theories

In third stage of demographic
transition

(A) Birth rate and death rate are
high

(B) Birth rate and death rate are
low

(C) Population explosion occurs

(D) Imports grow up

In the year 2023 - 24, retail inflation
rate in Gujarat State was

(B) 5.7%
(D) 6.4%

(A) 4.4%
(C) 8%

Which of these formula is correct for
marginal cost ?

_AQ _AC
(A) MC = i (B) MC = 20
_ AP _AQ
(C) MC =30 (D) MC S

58.

59.

60.

61.

el ewdtett [@AsRic L8
Qa2 A A ay yejeel upnad
A B. vl cARe c2lA B

(A) MWL B8R0l Rltaidl
(B) <l gttt Reuidl
(C) Aesell cdysal Reaicl

(D) detctell oll Rl

cdac{l dsHe olt oot dussiHi

(A) %HER ol HRJER AUl
gl B

(B) %oHER Ul YeRfER oflUl
alal &

(C) ax{l @Qagle aa B
(D) 2l afl B

ad 2023-24 Hi %2 A%l
925 gollcllell €2 gcil.
(A) 4.4% (B) 5.7%
(C) 8% (D) 6.4%

Ml W W waHil s Yot
UY D ?
_AQ = AC
(A) MC = o (B) MC = 20
_ AP _AQ
(C) MC = 20 (D) MC D




62.

63.

64.

65.

If S.L..R. decrease, then

(A) Inflation rate will increase

(B} Inflation rate will decrease
(C} Inflation rate will be constant

(D} {A) and (B) both are correct

While rolling a single dice, the
occurrence of getting any one number
is probable event.

(A) Mutually exclusive

(B) Collectively exhaustive
(C) Independent

(D) Dependent

Leontief isoquant takes the following
shape

(A) Rectangular hyperbola
(B) ‘U’ shaped
(C) ‘N1’ shaped
(D) ‘L’ shaped

The simultaneous buying and selling
of foreign currencies for making
profit is

(A) Cross transaction
(B) Exchange rate
(C) Arbitrage

(D) Hawala market

62. % S.L.R. €22 dl,
(A) goucllell €3 dud
(B) goudclell £ u2d
(C) goualell €2 RAR ¥Q

(D} (A) ol (B) vial ALAU D

63. 2R A5 UH wlydll cll Al

¥sclHl wA & U S s s
Hoclle(l dedastl

2ol 8.

(A) URRUR [alzs

(B) dysel o RAn

(C) @A

(D) AR

64. [Aalodls UH-GeulEsl csoll BUSIR

(A) anugelelel ududaa
(B) ‘U’ uUlsIR
(C) N’ BUSER

(D) L7 w82

65. o5t H2 {A2all uc] BswA

wdle-Aaal 8.

A) yldcaast?
(B) QAN €2
(C) WA

(D) salcl weosR




66.

67.

68.

69.

Debt-trap arise due to

(A) Government borrows to pay old
debt dues

(B) The government prevents public
expenditure

(C) The government promotes
investment in productive areas

(D) Government is careful for public
expenditure

Under monetary reforms,

Prof. Sukhamay Chakravarthy
recommended, which monetary
aggregate to target for monetary
planning in India ?

(A) M1
(C) M3

(B) M2
(D) M4

‘Workers of the world unite, you have
nothing to loose but the chains’, is

a statement by
(A) Joseph Stigler
{B) Karl Marx

(C) M. K. Gandhi

(D) James Duessnberry

Externalities in production and
consumption leads to

(A) Corruption
(B) Political instability
(C) Market failure

(D) Distortion in international
trade

66. tll-s Geald B s 3

(A) URSIR ogell Eatel Ysarll
sal £g 53 &

(B) URSR nd W suld &

(C) U1 Gewesla AH
KRS Nuldd 52 B

(D) U812 &2 WA YA watladl
dd 8

67. sURU S YUl E12let, YIS,

yuial usadl st eRdMl

LR Sl vl HIE i «lleligla
des (Yasl) o leHl Actiell

eleLHeL 53 B ?
(A) M1
(C) M3

(B} M2
(D) M4

8. {Auoll sIHEL As ARA M 588

sulacla] atell uRqg ¥snuacue]
8. -l (Aol Sloll gl UM
ullce] B

(A) A% ¥R

(B) sicd b

(C) AH.3.olnl

(D) R YRl

69. Gauleal 3ol Guellale(l oialdlA

E15l i B

(A) QelUR

(B) A Sl URARcl

(C) womR [gml

(D) icdRAE2 QuHi @Q3udt




70.

71.

72.

According to WTO the contribution of
India in G.V.C. (Global Value Chain)

is on

(A) Increase
(B) Decrease
(C) Constant

(D) Negative

Which one is correct feature of
Non-Cooperative Game Theory ?

(A) Game in which participants can
negotiate binding contracts

(B) Allow them to plan joint
strategies

(C) Negotiation and enforcement
of binding contracts are not
possible

(D) (A) and (B) both are correct

A.W. Phillips curve conclude that

(A) Inverse relationship between
rate of unemployment and rate
of inflation

(B) Positive relationship between
savings and investment

(C) Negative relation between
demand of money and
country’s growth

(D) (A) and (B) both are correct

70. WTO ol Hel H%¥0l @Rcde G.V.C.
(Qa ye disn) A
@ 8.
(A) adl

(B) udl

(€) RAR
(D) oASLRAMS

USSRl ud Rtklicte] WY

AaQ 5 & ?

(A) ™ 5 FHL UL Qe
cldAld st siuasdl sAR
531 2tk

(B) UYscl g Uel(2dsll
AN otell vofH(d

(C) AU U ot gl
Weotscl AR s atell

(D) (A) Aol (B) ool 1AL &

71.

. solc]. (SlAw asell (A .

(A) QA% oll €2 Wl goUdlell
£ clA A Ueid

72.

(B) Ut Aol HSIASL <A Ut
Aol

(C) ougliell HidL wal taoll gt
AR olSRAMS ol

(D) (A) UA (Bjolal qlUL B
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73.

74.

75.

76.

What is the percentage of information
lost while using quartile deviation ?

(A) 50 (B) 75
(C) 25 (D) O

Linear programming gives an optimal
solution, where in ‘optimal’ means

(A) always a maximum
(B} always a minimum

(C) best possible sclution, given the
constraints

(D) one of the feasible solutions,
given the constraints

Quota system in international
trade is

(A) Non-tarrif barrier
(B) Tarrif barrier
(C) Balanced trade policy

(D) For exchange rate regulation

In case of public goods

(A} Positive externalities exist in
consumption

(B) Negative externalities exist in
consumption

(C) Positive externalities exist in
production

(D) {A) and (C) are correct

73. Udds [Quctetell Guallal sauell

secll 2sl MRl ol ud &7
(A) 50 (B) 75

(C) 25 (D) O

74, YW vyl A Sredd G U
B, w2l ‘Tred’ ol wel
(A) &Rall HETiH
(B) &Nl ofoitiH
(C) VA AU HwoL AL A

G
(D) QA WAL Yrol Ylict 531

astal Acl As Gy

75, UldRRAA AUIRHL slel ctazal
0,

(A) (Glot-os51ct By
(B) %5l AR

(C) AHARAA A oIl
(D) QEAH2eR Ranet w2

76. K132 didell (Buni
(A) GUGNOIH| &5RIMHS GUEAIA B
(B) GUEIHL oASIRIHS ollElclldl B

(C) BeUlEoMl &5IAHS OUEL AR B

(D) (A) U (C) el AU B
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77.

780

79.

80.

When the trade balance is negative,
excess investment over domestic
savings is financed by

(A) Deficit finance
(B) Capital inflows
(C) Capital outflows
(D) Depreciation

Human Development Index (HDI) is
comprised of attainments in

(A) Human attainments in the areas
of technology and education

(B) Income, education and health
attainments

(C) Incomeinequality and educational
attainments

(D) Health and educational
attainments

‘Free Rider’ problem is the result of
(A} International trade

(B} Market failure
(C)
)

(D} Cultural failure

Judiciary failure

In the area of micro finance, India’s
position come after

(A) China
(B) Japan
(C) Nepal
(D) America (U.S.A.}

. WA AUR YRAd osRAHS 8lA
RUR UG UAUA BURida atulg]
yslsiet
(A) WAL YRS ollglicdA gl U
(B) {Slyucugatl 2UotHat gl U
(C) yslycusell Howet gl ud
(D) AciycRlel gl U

78. Hiclct [AslU YAsuis (HDI) Hi

e Rk B

(A) dsligl wal @lew axell
Histclla Rk

(B) lals, Rlatgt W el
RERRA

(C) sl WHHIAAR wa
daRls RERA

(D) el UA Aelldls AR

79. Ugdlaw ol anu uReun ®
(A) AR AW

(B) ¢x1R [Argadl

(C) satells Rrgml

(D) aizslds Ersnic

yeH [ ol AAMl @lde] aulat
ugl wud 8.

(&) et

(B) % Ulet

(C) awn

(D} AUARsL (. AUA.)

80.




81. Which of the following is the 81. vRaHiel 58 AR asel
assumption of indifference curve ? yLeU B.

(A) Constant marginal utility of
money

(A) et@il oll EAR i gRoeL

(B) Utility cardinal approach (B) ri@%@,ldﬂ HLALALUS vUlA

(C) Consumer choices are assumed (C) Dlléfﬂcﬂ- ueolall dsils
to be transitive YRAMHL A B
(D) (A) and (B) both are correct (D) (A)ua (B) el LUl &

82. In Business cycles during the period | 82. drsla Uus HiHEl WUl wAuR

of recession or depression £l
- (A) HRU SHEIRL AHell Alsd
(A) Many workers loose their jobs S D
(B} i\/lany businessmen suffer huge (B) WQll it o[l WO ofslet
osses GPLIAL B
(C) (A) and (B) both are correct (C) (A)nal (B) elol WU &
(D) {A) and (B} both are incorrect (D) (A) ¥ (B) ¢idl vi2L B

83. Skewness will be negative for 83. [-ugdl [adi’@',l H12 [@ANHAL

Binomial distribution, if (p - q) is l5lAHS Ao, dl P-q) B
(A} >0 (B) <0 (A) >0 (B) <0
(€} =0 (D) —eo €) =0 (D) — oo

84. Accordingto Malthus, food production | 84, HICU/oll Hd H¥OL WAL wUAs]
grows at arithmetic progression and Geuleol M5 A <t B wal axdl

population
A) 9ol gLl £ Bl §
(A} grows at zero growth rate (A) Yot ¢

(B} grows at discounted rate (B) dalaell €2 dfl B

(C) grows at geometric progression (C) ARl dlA a B
(D) grows at harmonic progression (D) &81RLHS Adad ®




o

85.

86.

87.

When country A sells goods cheaper
in other countries and at higher
price in own country, is known as

(A) Welfare trade

(B} Dumping

(C) Price war

(D) Unbalanced pricing

The principle of maximum social
advantage implies

(A) an equilibrium is reached when
social advantage is maximised

(B) when the size of the budget
is such that marginal social
benefits of public expenditure
is equal to marginal social
sacrifice of taxation

(C) when government works for
benefit of higher income group

(D) (A) and (B) are correct

Sterilisation by the Central Bank is
initiated through

(A) CRR
(B) Open market operations
(C) SLR

(D) Repo rates

85. Ul ‘A’ £ oflont EAHL cAreA

Uil €3 wal Wdlell 2ol Gl
BGHa A, A Q sdcudl,

(A) sERURL AR

(B) GLERL

(C) (Bud Yyt

(D) UAHARAA (Bt RAuizel

86. HotH UHYS Ml Rt

geld & &
(A) UR ULHIYS ALGL HeTH
UU Y U AHAL Yl & D

(B) WB2oj SE Aeq & B 3 xR
o duAel ylvd U fHid
UHS el A sA/AYL AUctl

rid A9s AR B2l
a2l

(C) AR UWIR G s U
G HIZ BLH 53

(D) (A) Wa (B) visl WU B

87. Yol dls gl [ellsRel yulsau

oil Gl A3 SAA B
(A) CRR

(B) vicall oosre{l yulsal
(C) SLR

(D) WeR




88, According to “Thomas Piketty”,

a major source of income
inequalities in the world is

(A) a result of technological
progress

(B) result of differential working
conditions

(C) result of different political
environments

(D) the result of inherent wealth
inequalities

89. Demographic dividend means

(A) Large part of population depends
on dividend income

(B) The ratio of female population is
more

(C) The ratio of working population
is more

(D) The relative share of senior
citizens is more

90. Fintech is related with a range of

{A) Financial products and services
which conducted by technology

{B) Related with World Labour
Organisation

(C) Financial Advisory Body of
India

(D) Related with World Trade
Organisation

88. el 3 oll U Yool [Qun]
WAHLA AUl HEcloll Bld
A) as@él yalded uReun ®

(B) URadatalla st uRAQu
uRoud ®

(C) el A8l waliaeleg
udleun &

(D) ot Auld UAH A
UilouM &

89. cixdlej and Aed

(A) dcllell A (B0 BAses
s UR R Sla

B) =l drclled yHIQ au? &
() stH 5l cacllo] YRl aul?

B
(D) AAid ANRANA R20a @l
CUER
90. Ro2s-3l Al wd
AslAd 8.

(A) cltisla Geuleall wal Actvll
% 25allcll% all WUHEAML
el

(B} Q& stH dolsel wA AslAcA
(C) etRetell atguislal Actestdl
Al
(D) {Qu catulr Udisel WA
Kl SIAEA




91.

92.

93.

94.

If the average revenue is less than
average cost, then

(A) Firm is suffering loss
(B) Firm is in profit
(C) Firm is in zero profit

(D) Firm is in high level of profit

Given (i) Q, =a-bP; (i) Q. = A + BP
and Q, = Q, [where Q is quantity and
P is price] is a case of

(A) Simultaneous equation model
(B) Quadratic equation model
(C} Time series equation model

(D) Linear programming model

If the ratio of change between two
variables is uniform, then there will
be correlation.

(A) Linear

(B) Non-linear
(C) Quadratic
(D) Zero

Linear programming was first
developed to solve

{A) diet allocation problem
(B) transportation problem
(C) automation problem

{D) microchip installation problem

O1. ol YA ALAS UAA W 52
Al sl Al

(A) WElA ofsUlol US G B
(B) W&l o8l 52 B
(C) V&l Yot olfl 52 &

(D) Ul Guselsll o5l 52 &

92. ¥ e (i) Q; = a—bP;

(i) Q,= A+BP ¥l Q, = Q,
[os2ll, Q A w28l U P (SHA
8] dl ul

(A) Yarue uHlsw W3 &
(B) Guel allse N3 &
(C) AHRs ulsl A3 B

(D) YRuL A%t M3 D

93. %l A UMl ARl ¥l J[R0R
uls3W (AHLel) 8l

usAoiu A

(A) Y

(B) [@eot_yu

(€ RBudla

(D) Yot

Yul vllet Alyad Aol G3cd

W2 @s@d 52y
(A) 28R stnarllell a2l

94,

(B) cllgetcalasl? ofl Rl
(C) A UlAetoll MU
(D) HERAU yraustoll qmn




95. The voting powers of members in
IMF depends on

(A) Population of the country
(B) SDR quota
(C) Military strength of the country

(D) Political strength

96. The principle objectives of fiscal
policy in developing economy are

(A) tomobilise resources for economic
growth especially for the public
sector

(B} to prevent the private sector from
providing incentives to save and
invest

(C) to provide economic growth in
the private sector by providing
incentives to save and invest

(D) (A) and (C) are correct

97. ‘Secondary market’ term in capital
market means

(A) Market of low quality shares
(B) Trading of listed securities

(C) Issue of shares to existing
shareholders

(D) Trading on second day of shares
purchase

95. IMF Hi ueloll Hcl@s?
ERMUTERE: ]

(A) tatell axdl

(B) SDR S5lel

(C) Eatell e ula
(D) RA¥Sla Al

96. ([Asalld wWddA 12 Axs {2
l[Asll uaud GEl B

(A) vWEls ged w2 dutuel

Anaal WY s3la md ax
He

(B) vlotd(l@nA oiud wal
HSRAAsILL A YL@ 5l
Asal.

(C) vitetoll i 24lEs R
cllatal HSIRASLRL sl olActal
W@ s

(D) (A)ua (C)aul &

97. YslosRul Bdla (wdRAR3w)
olos 2’ oll wY

(A) o0 dQiaciaiot e W
(B) alleiAct AR ol AWIR

(C) &l AR URHA Aol
sloaell

(D) AR WIlElelt oflot Rad QAR




98.

99,

100.

The concept of “knife edge point” in
the equilibrium growth path is the
contribution of

(A} W. W. Rostow

(B) Harrod — Domar

(C) Vokil - Brahamanda

(D) W. W. Leontief

Mortality rate is

(A) Deaths per 100 population per
year

(B) Deaths per 1000 population per
year

(C) Female deaths per 1000
population in a year

(D) Infantdeaths per 1000 population
in a year

The Gini coefficient is calculated on
the scale of

(A) O to 1
(B) 1 to 100
(C) O to 100

(D) -50 to above 100

98.

99.

100.

g vaell ungeunl awe(l
e (olg’ oll vauet A Sloll SLAU D

(A) SGICR). SWE). A2la
(B) 3As - SIMR
(C) AS\A - yallotel

(D) solcR]. suic]. (AN

4| £ B

A) €2 a¥ €2 100 <l iR
1

B) €2 a¥ €2 1000 ol axdlA
Hey

() ad eRauet €2 1000 ol
cxe{lA &l Yy

(D) a g2l €2 1000 <l
el s 3y

ool UsdYRSe(l 2Rl
UHIBLHL A 8.

(A) 0 &l 1
B) 1 4l 100
() 0 ¢l 100

(D) -50 dl 100 l ay

|~ ——
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